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Math department - Grade 6
School year 2019-2020

Term2 Revision of Short Test # 1

Ministry of Education
Department of Education and knowledge

Al Dhaher School.

Name: ...
Date: 04/02/2020

Choose the correct answer in each of the following :

1) The C point on the number line is
c A B
L |
o S e s e s o

I I '
-80 -70 -60 -50 -40 -30 -20 10 0 10

. -10

. 40
10

. =20

2) The letter that represents the origin is

B A C
Gttt —>

-5-4-3-2-1012345
. B
d. A

3) The letter that represent a negative integer is

a. C B A C
e A A —

b.B -5-4-3-2-1012345

c. A

d. 0
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4) The letter that represent a positive integer is

B A C
a.©¢ — A —

-5-4-3-2-1012 3 4
b A 5-4-3-2-1012345

c.B
d. 0
5) The opposite of 5is
a.5
b. -5
c. -7
d. 7

6] + I51=
a.
b. 6
c. 11
d. -5

7) The set of numbers from least to greatest {2,—1,4,—2,5}

a.{-2,-1,2,5,4}
b. {2,-1,4,-2,5}
c. {~2,-1,2,4,5}
d. {5,-1,4,-2,-2}

Identify the ordered pair that name the point C is

a.(4,3)

b. (-3,-4)

c. (-4,-3)

d. (3,3)
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9) State in which quadrant point A is located.

a. Quadrant Il
b. Quadrant IV
C. Quadrant Il

d. Quadrant |

10) Name the point (3, 3)
a.C
b. A
c. B

d. D
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